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MICRO-CONTROLLERS

Fruifa oo dm ) [ftremam 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

A () FHTIE AAEE 8, 994 8 8 IR & I G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) 5% 97 & G I %1 FHAR T G195 Hiord |
Solve all parts of a question consecutively together.
(iii) Fed% F7 H1 73 8 8 IR Fiford |
Start each question on fresh page.
(iv) g1 reIsn 7 31t g7 @1 fRifa 7 3 sgarg 8 A= 8 |

Only English version is valid in case of difference in both the languages.

1. (1) RD Uud WR dahd 8085 HISshINTHE 4 &
(a) Tog=vgda (b) eH Hhd
(c) oTe &Y & guifaa d@eha (d) Aofisem s / Fefa weha

In 8085 Microprocessor RD and WR signal are
(a) control signal (b) Status signal
(c) externally initiated signal ~ (d) serial input/output signal

(2) 8085 pp ¥ s o9 fopad fae Hi 2 ?

@ 8-fweh (b) 16-faeh
) 32-fweh d) 4-feeH
Data bus in 8085 pp is
(a) 8-—hit (b) 16— bit
(c) 32-bit (d) 4-bit

(3) WedwieEd Tgd / S e8 AD, — AD ®
(a) Ta-fesfa (b) s feefi
© FB-fesfm d) =g fesfim
Multiplexed address/data bus AD, — AD, is
(a) bi-directional (b) unidirectional
(¢c) tri-directional (d) multidirectional

(10f8) P.T.O.
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8085 pp H w7 e & ?
@ @ (b) o=
(c) i (d) 3Ime
How many flags are in 8085 up ?
(a) two (b) three
(c) five (d) eight

39 MVIA, 82H & wrgsh! & 8085 & fore e s qgfm A 2 7

(a) dcehrel UM (b) e ugfan

(c) weaw ughm (d) IweaE vgRm
8085 pp instruction MVIA, 82H have addressing mode

(a) Immediate addressing (b) Register addressing
(¢) Direct addressing (d) Indirect addressing

HIEFHINIAET 8085 H TE GUTA W1 Hehel AT SHAUH 2

(a) TRAP (b) INTR
(¢) RST75 (d) RST6.5
The non-markable interrupt in pp 8085 is

(a) TRAP (b) INTR
(¢) RST75 (d) RST6.S5
[ T §e g 2 Afg afomm

(a) 3 (b) A
© @3@®)FE (d) HEE
Zero flag is set if result is

(a) Zero (b) Non-zero
(¢) both (a)and (b) ; (d) none

HIEAISIAEE 8085 H 22T TFEH AT A A H ST FH AR ?

(a) IfEdHE (b) ufEdH

© (@903 (d) i

In 8085 pp in data transfer operation the data of source remain
(a) unchanged (b) changed

(¢) (a)and (b) both (d) none
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wrgsHIaE 8085 # frdw fohad wHR H E 7
(a) TIHR® (b) ERIHR &
(c) diaYHR® (d) TEIPNH
In 8085 pp the instruction are classified into
(a) two types (b) four types
(c) five types (d) tentypes

4891 ANI 8 bit &1 314 2

(a) et AND 8 farz 221 TRt & 221 & 1Y
(b) wiareRet OR 8 faz 221 TaRpHAe & 321 % WY
(c) uHea & a1 8 fae g

(d) UREeR F T H A 8 fae wem

The meaning of instruction at ANI 8 bit is

(a) logically AND 8 bit data with the content at accumulator
(b) logically OR 8 bit data with the content at accumulator.
(c) Add the content at accumulator with 8 bit data.

(d) Subtract the 8 bit data from content of accumulator.

(11) wTEshIsrae 8085 # Fdw HLT &1 29 I3 &l 8

(a) 06 (b)y 76
(c) 80 (d F2
What is the Hex code of instruction HLT in 8085 pp ?
(@ 06 (b) 76
(c) 80 (d) F2

(12) F=osRim feama o fRl e Fai 2 7

(13)

(@) ¥ (b) IR W
(c) i (d) T ABEAE
Interfacing device interface with the

(a) input port (b) output port
(c) both (d) none of these
8085 pp 1 398 & FAYE FeThiam fEargd 2

(@) o= (b) TERE AR
() @Ml (d) g

Input interfacing device of 8085 pp is

(a) latch (b) tristate buffer
(c) both (d) none

P.T.O.
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(14) vt g 31ré / 30 i Fease wgu frm e 12 7

(15)

(16)

(17)

(18)

(19)

@ 8fw b) 16fwe

() 32f d) o4fae

The device address of the memory mapped 1/O is

(a) 8bit (b) 16 bit

(€) 32 bit (d) 64 bit

8085 & FEI MVI A, 78H fhaR ase #1 2 7

(a) THER (b) QraETER

() dHamEEe (d) T A HE A
The instruction length of instruction MVI A, 78 H is in 8085 up
(a) one byte (b) two byte

(¢c) three byte (d) none of these
8085 pp & Toreet wghin wie %1 3gEW &

(a) MVIB, 80H (b) MOV B, A

(¢) OUTOIH (d) SwiEd @i
Example of register addressing mode of 8085 pp is

(a MVIB, 80H (b) MOV B, A

(¢c) OUTOIH (d) All of the above
8085 pp T AR 3¢ 1 WAl 9 2

(@ RST7.5,RST6.5,RST5.5 (b) RSTS5.5 RST6.5,RST 13
() RST6.5,RST5.5,RST7.5 (d) RST7.5 RSTS5.5 RST6.5
Priority level of the maskable interrupt of 8085 pp is

(a) RST7.5,RST6.5,RST5.5 (b) RSTS5.5, RST6.5,RST7.5
() RST6.5,RST5.5,RST7.5 (d) RST 7.5, RSTS5.5RST6.5

8085 pp # Wed (w3w) A 2

(a) g/ TgeAmd (b) s el BAI
(c) @Hi(a)d (b) @) wAHAFE A
Prime memory of 8085 pp is

(a) R/W memory (b) Read only memory
(¢) both (a)and (b) (d) none of these

8085 gpﬁl%&asﬂgmszﬂn’lﬂﬁam%

(a) foea-veia | (b) wE e ica 8
(c) THIH (d) 8 BT
Static R/W memory is made up of in 8085 pp

(a) Flip-flop (b) MOS transistor gates

(c) both (d) none of these
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(20) 8085 pp i fe 3ieft AR (Read only Memory) Bt 2

(a) drATEA (b) FA-dAeTEA
(c) i @
Read only memory in 8085 pp is
(a) volatile (b) non-volatile
(c) both (d) none of these
(21) "EFEZIE 8051 § ROM il 2
(a) 4KB (b) 8KB
(c) OKB (d) 16KB
In a 8051 pc the size of ROM is
(a) 4KB (b) 8KB
(¢c) OKB (d) 16KB
(22) WEFIBZIER 8051 | o fom &t 2
(@ 16 (b) 32
() 8 (d) 64
In a 8051 pc the no. of VO pins are
(a) 16 (b) 32
() 8 (d o4
(23) 8051 pcﬁﬁﬂtﬁmmmm% ?
(a) 8fw () 16T
) 4fw @ 32fe
What is the size of flag register in 8051 pc ?
(a) 8bit (b) 16 bit
(c) 4bit (d) 32bit
(24) WIEsHIEHgIeR 8051 3 et &% O 1 AN U3 Bl 2
(@) 00-07 (b) 08-OF
(c) 10-17 (d) 18-IF
Memory address of register bank O in 8051 pc is
(a) 00-07 (b) 08-0F
() 10-17 (d) 18-1F
(25) 8051 pcH FFA MER 7
(@) T ® @
(c) dH @ =n
How many ports are in 8051 pc ?
(a) one (b) two

(c) three (d) four
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8051 pc H fopad Rt ais € 2

(a) = (b) dR
(c) U= @ ®:
How many addressing modes in 8051 micro-controller ?
(@ 3 (b) 4

(¢) 5 (d 6

8051 pc # fpadt Tem a € 2

(a) T (b) @

(c) &= (d =R
How many timers in 8051 pc ?

(@ 1 ® 2

(© 3 d 4
8051 pc %1 23aL 0 o fpa fae w1 2 2

(a) 8fee (b) 16fae
() 12fw d 32fee
What is the bit size of Timer 0 register of 8051 pc ?
(a) 8 bit (b) 16 bit
(c) 12 bit (d) 32 bit
8051 pc T TMOD Tz fraa fae #12 2

(@ 4fw (b) sfa
(©) 16fa @ 3Rnfa
TMOD register of 8051 pc has the bit

(a) 4bit (b) 8 bit
(c) 16bit (d) 32 bit
8051 pc # =raum R [E& fae D, A a2 7
(a) 3THO b 3A0
© 3T @ 3$&1
What is the D, of interrupt register of 8051 pc ?
(a) EXO0 (b) ETO

(¢ EA (d) ETI (1x30)
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2. o= o wftre o qEgnER |

Explain the following in brief:

(@)

(i)

(iii)

(iv)

v)

(i)

(i)

5 @

(ii)

uy ot 3118 D, 06H
MVI D, 06H

01 H
INOIH

9ig PSW
POP PSW

dondi B
CMP B

SRS, 3FH
ORI, 3FH (2x5)

fepeft T i@mﬁwﬁmmwﬁwq.qam.%ml

Write an ALP (Assembly Language Program) for finding smallest number in an
array.

8085 up i TBTEHa sFaurl i faas Hifse |
Discuss maskable interrupts in 8085 pp. (5+5)

fieh we@ o1 ¥ D, @Y D, fae #i d2 #1 w@ D, D, fore # fde w1 1
u.ua. . fofied |
Write an ALP for setting D, & D; bits and resetting D, & Dj bits of given data.

A TecHRin 6 I afea e HfAT |

Discuss the memory interfacing with example. (5+5)

fopeft i e # G HEAIS P BieA HI LA, fafad |
Write an ALP for sorting the even numbers in an array.

8051 TS FIer i v srawri i fre Hif |

Discuss the interrupts used in 8051 micro-controller. (5+5)
P.T.O.



1E304 (8 of 8) 349
6. (i) @ 0% Erafia sadal § XOR i & %1 ¢ue . ferfa |

Write an ALP for making XOR operation between respective elements of two
arrays.

(i) @99 Teish / TTOT i 8051 WTEH! e H ST S oAaed] GHATE |

Explain the internal arrangement of timer/counter used in 8051 micro-controller.

(5+5)
7. () 2 =wRIH auHEaldtEd % e fafed |
Write an ALP for checking similarity of two data.
(i) 8051 HTEh deprer i v R faftr 4 Iqre wfea fadm il |
Discuss addressing methods for 8051 micro-controller with examples. (5+5)

8. () 8051 HTZHH! FHaIer i 10T i Wis-02 # wga w1 O, ue. f. ferfiad |

Write an ALP for using counter in mode-02 in 8051 micro-controller.

(i) 8051 e FIeT i 7 Waet T i Sifii Hi anssd |
Explain programming of interrupt enable register in 8051 micro-controller.  (5+5)

9. e o wftrea o wwssd
Write short notes on the following :
() Fom aw diet i argmEe gr fa e
Micro-processor based speed control of d.c. motor

(ii) aTdra g %1 HTSsh! gier gra ar frg=
Micro-controller as temperature controller of heating furnace. (5+5)




